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Question 1 (2 marks)

         

Question 2 (3 marks)

A1

A1

So the particle’s displacement is 35 metres to the right of O. A1

Question 3 (4 marks)

a.  M1

A1

b.  M1

A1

Question 4 (7 marks) 

a. Solving  for x we obtain A1
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b.

correct shape A1

endpoints labelled with correct coordinates A1

c. attempting the chain rule M1

Let  and so 

 and so 

 (or equivalent) A1

When  (or equivalent). A1

Question 5 (4 marks)
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Question 6 (4 marks)

Let  and so  (or equivalent).

Alternatively:

M1 A1

M1 A1

Question 7 (4 marks)

At  and so the gradient of the normal is M1

A1
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Question 8 (5 marks)

 M1

 

A1

When   (1)

When   (2) A1

Note: Award A1 for these two equations.

  

  M1

 and so the outside temperature is 5°C. A1

Question 9 (7 marks)

a.  M1

 A1

 A1

 or M1 A1

b. centre is  A1

radius is  (or equivalent) A1
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